YC/N0BHbIE OBO3IHAHEHUA

c. bozodyxobka

ittt
PSS
MM Fr
ittt
e e

d. Koykobamka
M 1:5000

=

0

.m\\b\ﬂo N JC

- f\a\f// s

T \, =

o \ T E

2 B9 m ! S S
R * SN@)
‘\ S < / 2 Huw
= YW @>«

Gy

.* / :
-
0o
H_[Hpg(QBa Jlsara
Vs . .
R
3o \.
\
\
A
o
!
\
%

[LIL] /%Hv <

® . 5 S

s W \

Om s %

@ & I >

oo w /. ] p

=0= \ : :

s 0 W ) < _
550 . .
< W O \

TOE

a
*®

shjl

CXH

\

CXH

NP

3D

KoBaTKa

HA3bIBAEBLKOI 0 MYHUUWUITANBHOTO PAUOHA OMCKOW OB/AACTH

Kapma zpadocmpoumensHozo 30HUpobaHuss meppumopuu

!
NP

e

NOPUC-MEITIUKOBCKOE

CEJNIBCKOE
MNMOCENEHWUE

.
e

CXH

[NPABUNA 3EM/IETIONB30BAHUA U 3ACTPOUKW BOI0AYX0BCKOINO CE/BCKAIO NOCEAEHUSA

* _E_ e m
. ~
/2,5
. = N
¢ © ww [ .
O ———— B
vz W
@@ﬂ
HbE
= W ©
L OE

Cywecmbyrwue

[MnaHupyemsie

NP

[[paHuULa MYHUULUNGABLHOZ20 pauoHa

0
@%
roa

CXH

shjl
CXH

UEPEMHOBCKOE

CEJIBCKOE
NOCENEHWUE

¥-
<
\

shjl

‘c. Bo

001, PaMok

bozodyxobckoe censckoe noceneHue
M 1:25000

2
.

N
UYEPEMHOBCKOE

CENBCKOE
MOCEINERMUE

shjl
*

shjl

CXH
\

)

P31 Ko4ykobBamckuu

Z o
& |E| «
o= g |2
3 <3 _
& .
T z £
a m ™ |o uHﬁ
g 3 2 |2 b4
I 22 @
™ = @
[ OF | &
=) Cl=s |8 8
I ol Q g
c|le8 [§ "
o Q,mm
N |l 8¢ - s
o © | @< g |z 8
o S| &= s |& s
I = | 2% [ z.5 | &E.3
a @ | oz | 558 | 558
= O o | 88 | B85 | z8&
3 3 = | 28 | 88 [E8s
T ST S S8 |ox |88 [2:8
S g 2 'Z e |28 | zi2 |22
J o~ T 685 | %25
a T o o T o & I
E O — ™M Eo 285 588
S S I 4 '3 o 55 | 158 |3t
o ™ — - 2 = Ad | z:3F |Es%
5 VU O -0 = m =) o @ -2z | 8¢%
s T o o X 3 2 | s8¢ | s8¢
= O 0 X ] U = ) £852 | €58
T = 9 E 2 > & g E S [=°8 [ B0
X O X = & 2 g &
E L0 o T o o 3 |2 &
T = o O T = =2 E 2 8 B 3 = : £
W e 3= I g © I = T
¥ %3 3 S5 8 : 28 ¢
b o < @ =
22 S8 o 8% &3 %3
= O o 3,5 = © 2 E E o 3z
C % mo OH_M O T et x o 5
o @® I Cc I m o D '2 32 @ o o g
8 I 8 o 2 S 5 T o o T O 1.
S a3 ¢ 3ES = © E 2 © & Z 5 |2z
U = O E U w i I 2 5 & 32 1 xHEE
4 @w N = 13U o o g S 3 M S A HE
= U O =k 0 — T 2|&|5 &
(= o w ot E
w O T m = T L ol 3
U T u I o a o o 2 3F 2 X a I o g2
5 I S o E I g v & & E nEiEl
-~ X ol o | () LN Il I -
3 3 3 J o =< = Q _ o -~ _
I =T = = n @ % = o - T ] s o
(] (] = z = S5 T T o T I I
O o a O w o o o o o (= (=
- - M M U m X O oo m m M m
1
_ m o
: S| = =z =] oo o~
™ J Ly
M

M 1:5000




